Additional Findings

's income was determined using

[1] * Employment Department wage data for Qtr.

[2] * Qtr. through Qtr. average monthly wage per Employment
Department

[3]

[4] « Potential full-time minimum wage for State of

[5] * No ability to earn because is incarcerated [OAR 137-055-3300]

[6] ¢ Income from disability benefits $ [ ]weekly [ ] monthly

[7] « Unemployment Compensation $ [ ]weekly [ ] monthly

[8] « Workers’ Compensation $ [ Jweekly [ ] monthly

[9] ¢ Confirmed with current employer: $ [ 1hourly [ Jweekly [ ] biweekly [ ] monthly

[10] « Pay stub(s) dated
[11] * Self-employment: federal and state tax returns for

[12] « Potential wage based on Oregon Wage Guide for

[13] « Potential wage based on Employment Department Records Qtr. through

Qtr.

[14] 's income was determined using

[14A] « Employment Department wage data for Qtr.

[14B] Qtr. through Qtr. average monthly wage per Employment
Department

[14C] -

[14D] « Potential full-time minimum wage for State of

[14E] « No ability to earn because is incarcerated [OAR 137-055-3300]

[14F] » Income from disability benefits $ [ Jweekly [ ] monthly

[14G] « Unemployment Compensation $ [ Jweekly [ ] monthly

[14H] « Workers’ Compensation $ [ Tweekly [ ] monthly

[141] « Confirmed with current employer: $ [ 1hourly [ Jweekly [ ] biweekly [ ] monthly

[14J]  Pay stub(s) dated
[14K] « Self-employment: federal and state tax returns for

[14L] » Potential wage based on Oregon Wage Guide for
[14M] « Potential wage based on Employment Department. Records Qtr. through
Qtr.

[15] Non-Joint Child[#]ren for
Name Age Qualification

[16] Non-Joint Child[#]ren for
Name Age Qualification
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[17] Rebuttal
A rebuttal has been applied

[17A] to [A1] increase [A2] decrease 's income by $ because
[137-050-0760 (1)(a-q)]

[17B] to [B1] increase [B2] decrease 's costs by $ because

[137-050-0760 (1)(a-q)]

[17C] to [C1] increase [C2] decrease 's cash child support amount by $

because [137-050-0760 (1)(_a-q)]

[17D] to [D1] increase [D2] decrease 's cash medical support amount by $

because [137-050-0760 (1)(.a-q)]

[17E] to [E1] increase [E2] decrease 'sincome by $ because

[137-050-0760 (1)(_a-q)]

[17F] to [F1] increase [F2] decrease 's costs by $ because

[137-050-0760 (1)(_a-q)]

[17G] to [G1] increase [G2] decrease 's cash child support amount by $ because
[137-050-0760 (1)(a-q)]

[17H] to [H1] increase [H2] decrease 's cash medical support amount by $

because [137-050-0760 (1)(_a-q)]

[18] Additional Information
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